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Mﬁte any two factors affecting the value of share.

_’é_edo VPO,T eSS TOTR W TR ©OBRYRY, BewDd.
f«‘g")fﬂWrite any two objectives of financial statements.
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SECTION - B
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II. Answer any Three of the following. (3x5=15)

8 FINS Wemd m:jﬁcé VBDRD.

DA Kala Ltd. issued 20,000 shares of Rs.10 each at par which were under written

as follows:
X - 10,000 Y - 6,000 Z - 4,000 shares

Applications were received for 18,000 shares which included marketed
applications as: X - 4,000 shares Y - 2,000 shares Z - 10,000 shares

You are required to prepare a statement showing how many more shares the
underwriters will have to take to fullfil their obligations.

3o 9. 10 or. 0D WFgcL 20,000 é’@d&r‘i@ﬁg{ T0L WK REoNE TRERT
oRNgY X-10,000 Y - 6,000 Z - 4,000 éc’dlﬁ%fa‘ig{ 2083 moﬁm’%{?. FOTIND
283 18,000 &mFnsd wolcd ©wog X - 4,000, Y - 2,000, Z - 10,000 Jesonsd
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3 The following particulars are available from the books of the business of a
trader.

a)  Capital invested Rs.4,00,000

b) Date of risk on capital employed 2%

c) Normal market rate on investment 9%

d) Trading profits for the past 5 years:
First year Rs.52,000, Second year Rs.55,000
Third year Rs.58,000, Fourth year Rs.61,000
Fifth year Rs.64,000

Calculate the value of goodwill of the business on the basis of 4 years purchase
of annual super profits.
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IV  Compulsory question. (I1x15=15)
3D T)T,

/I’I./ A company made a public issue of 2,00,000 equity shares of Rs.10 each at a
premium of Rs.2 per share. The entire issue was underwritten by the underwriters
L, M, N and O in the ratio of 4:3:2:1 respectively with the provision of firm
underwriting of 5,000, 4,000, 2,000 and 2,000 shares respectively.

The company received application for 1,50,000 shares (excluding firm
underwriting) from public, out of which applications for 55,000, 40,000, 42,000
and 8,000 shares were marked in favour of L, M, N and O respectively.

Calculate the liability of each underwriter as regards the number of shares to be
taken up assuming that:

Case- i) The benefit of underwriting is given to the individual underwriter.

Case- ii) The benefit of underwriting is not given to the individual underwriter.
2,030 20T 30TV 10 Te. BRDBS 2,00,000 SETNTI), TSERITT,
VRN [RET. vowaoja 2o, Bednegsy L M N o= O 2A37 ;
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L 5,000, M 4,000, N 2,000 302 O 2,000 Jeconsh. To=2050 T BITO0T
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i) RoR L3TAC00T WIR BRBMOT.

ii) RCF BT RODTY W), WOOD BRTMOT.




